NONLINEAR INEQUALITIES SECTION 2.7 NOTES

A polynomial can change signs only at its '1 £YHS . Between two consecutive zeros, a

polynomial must be emlrety positive or entirely negative. The zeros are called _K_q_mmh..&_
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Factor the polynomial and find the critical values. x* -2x-3
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To solve the inequality x* - 2x - @J test one value from each of the test intervals. When a value

satisfies the original inequality, you can conclude that the interval is a solution of the inequality.
‘e -2: Ttest O~ —+@si Y
)-22)-s, O-U-3 (‘f)"' '-’-(‘*3'3

i e 20 positive
- 2 L0 Fiv
I mm o

2005 5)([ —I<x4’§g

Lﬁpi"{'cai Y is such Hhat”
Examples: Solve the inequality, then graph the solution.
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3. Solve 2x" +3x < 5 (a) algebraically and (b) graphically.
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4. Unusual solutions sets.

(a) x* +6x+9<0 (b) x*+4x+4<
(x+%) <O (x+2) <0
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